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2H: BEESDY
H: HOI2XRS
chel OIS XA 2gne) (S &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
0 FO2A & 2”03 (3Y) 60,787
o JlEza 52,9603 = 3¥H x 251Y 39,879
o FHEULE 52,960& * 3H x 51 8,103
o EXNRIFLTY 52,9603 * 3 * 12 1,907
o
52,960& * 3Y * 142 * 1.5 3,337
o Z2HAY| 5,000& * 3% * 270 4,050
o ERIFELH 52,9603 x 3% » 17¢ 2,701
o A3 50,000& » 3 » 324 450
o &M= 60,000& * 3¥ » 2Y 360
0 MEEE 2L E= MY DI g3 (20Y) 405,242
o Jl23 52,9602 * 20 * 251 265,860
o FEU4+Y 52,9609 * 208 * 512 54,020
o XNR3RYLLY
52,9603 = 20 * 12& 12,711
o guaz4+y
52,9603 = 20¥ * 14 % 1.5 22,244
o ZHANY| 5,000& * 20¥ = 270 27,000
o EYzzH 52,9603 = 20 * 17 18,007
o A3 50,0008 » 20 = 3Z & 3,000
o A= 60,000& * 20¥ * 2¢Y 2,400
HIOIZX2IAIE SXEx 227,000 180,000 47,000
401 AIEHIL 201 227,000 180,000 47,000
01 A& Hl 227,000 180,000 47,000
0422 a2 B2 LAl 3A 50,000
0 A2Z W SHEX(HE ) WA SA 70,000
0 (I IHZE WM ZAHCHOI=SAIZ AL THHI) 60,000
0 AN3 B2AIE WH Z2A 10,000
0 MXel 2AH0IH 25 WX 3At 15,000
082 £EJ| WH 2At 10,000
0 MEII & A SAH 12,000
HIOI2X2l & =X K& 2,520 2,520 0
301 dEtE A= 2,520 2,520 0
09 HAIAH EA= 2,520 2,520 0
0 FOUXNIAEAN HEEZH Ayl 24 2,520
HeME@dIIs™Hel & =4 2,734,000 0 2,734,000
= 1,090,000
o= 60,000
= 1,584,000
HM2MEHIISHe & =4 2,734,000 0 2,734,000
= 1,090,000
= 60,000
= 1,584,000
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SN BAESD
= HIISAHAS
el MMEHIIEeMaE =4 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
401 Al HIZ 201 Y| 74,000 0 74,000
01 A& HI 70,000 0 70,000
0 2&2, 22, SISSH, =88R
== 70,000
03 AIE 2 THHI 4,000 0 4,000
0 MAFS ol & =2 4,000
403 Mt S S X201 & 2,660,000 0 2,660,000
= 1,090,000
< 60,000
i 1,510,000
02 SO 2SS E2 X HE AL B 2,660,000 0 2,660,000
0 SH=2stZSHAS AL (N AIE) 1,200,000
2 500,000
s 700,000
0 SIS Z3UAEAIEH (A 2LL 0D AA) 1,200,000
= 500,000
[ia 700,000
0 SIS IHAE AL H (MBS =4H) 260,000
= 90,000
< 60,000
s 110,000
SSEA 2 191,950 228,010 36,060
WHHEE SSHEY 22 191,950 228,010 236,060
SSaEs |FX 22l 191,950 187,510 4,440
201 Let24d] 43,950 43,950 0
01 At 22l 29,500 29,500 0
0 et=2H| 29,500
o QOHLHZ2HEE X 100,000& * 4004 & 4,000
o OlsA(Edg) A Xt
5,000,000& = 33l 15,000
o AT AFEE 3l 500,000& = 13l 500
o STA MEXE SE2E MH
5,000& = 2,0000H 10,000
02 =224l 14,450 14,450 0
03323 % HAl 14,450
o BT 2hs) K3 5,000
o ZSs&E4A MIIAEZ 300,0008 + 128 3,600
o ZESEA otk MEE
50,000& = 12& 600
o =NOISASETL 24l
150,000& * 353 5,250
206 T2 Hl 18,000 18,000 0
01 M= 4l 18,000 18,000 0




EX: sH3Es
Hu: ZESEA 2o
Sl HHE BHHTA e CERED
5 - 4
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
0 2FsHA A2e A5 2
150,000 = 10004 & 15,000
0 et A IESE (X HAESE) 3,000
307 QI2t0| & 110,000 105, 560 4,440
05 QIZtRES 110,000 105, 560 4,440
0 Z2=st&Al DI2ERE 22 (28I A) 110,000
401 Al HI L 204 HI 20,000 20,000 0
01 Al&H| 20,000 20,000 0
0 E2ZsHA SIES 20,000
HHSHAY (B ESY) 2,134,288 2,024,344 109,944
SlEHY|(SAES ) 2,104,508 1,978,564 125,944
ol ALY 2,104,508 1,978,564 125,944
101 124 H] 2,104,508 1,978,564 125,944
03 RIHEZZXHE = 2,104,508 1,978,564 125,944
0 280|3H&(38Y) 2,104,508
o JlE3 1,380,060& = 38YH * 12& 629,308
o Jlgag
2,104,960 * 38H * 50% * 48 159,977
o B24+y
2,104,960 * 38H * 50% *» 2& 79,989
o M ctad|
2,104,960 * 38H * 50% * H& 199,972
o JIExY 30,000 * 38H * 4% x 12&€ 54,720
o EL£H2C 90,000 = 38™ « 12€ 41,040
o MAXMHALH 100,000& = 38Y * 12& 45,600
o AIE&Z224g(HI)IS2H2 )
120,000& = 9% * 12& 12,960
o HHZAH 160,000€ = 38H « 12& 72,960
o JIAHE X H| 110,000 = 382 = 12&€ 50,160
o WEEXH| 140,000& * 38 » 12&€ 63,840
o YASIH|
2,104,960 = 38H » 60% *~ 2& 95,987
o A2e 2R
12,990 » 382 * 30Al2F = 128 177,704
o gYaRLy
103,930& * 38 » 22 * 12& 94,785
o UNRIEYLY
69,290 * 38% x 15! 39,496
o XNUEHSHIEXLG(DSSHA)
350,000% * 8Y « 43| 11,200
o AL FAXEHI
1,000,000& = 5H 5,000
o ISt 200,000& * 38H 7,600
o SHADNISIAI)=22Q BEX1UR 1,000




EX: sH3Es
HH: HHSAAY (BBLS D)
Chel: o2 dy(#AL S ) (B9 ®R)
5 - 4
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
o QA2 (HIIS2H2H)
6,490 * 3YH x 8AlZF * 200L 31,152
o OIAZ2LxH(SH)
6,490& * 13 * 25A|2F = 128 25,311
o XX¥LG 124,900 = 38 = 12&€ 56,955
o A5 B#ADS
50,000 = 38 « 43| 7,600
o 0F2 BFEF(BS) SAY
7,000& « 38H x 123 3,192
o EXZ2(1H) 137,000
J2dH (2B ES W) 29,780 45,780 A 16,000
Jl2AH| 29,780 45,780 A 16,000
201 et d| 25,580 25,580 0
01 AR 22l ] 25,580 25,580 0
0 2BtEZ2H|(Z2E) 13,680
0 SEHI(EBE) 7,0008 * 1794 = 100 11,900
203 €2 F=&d| 4,200 4,200 0
04 EANSIELRF=XH| 4,200 4,200 0
0 BXN2dY 350,0008 = 12& 4,200
HEess (225 W) 2,263,395 2,179,798 83,597
BHEX= 2,263,395 2,179,798 83,597
LHEHCH K= 2,263,395 2,179,798 83,597
701 JIEISI HSEE2 263,395 179,798 83,597

=
01 DBt AT ES 263,395 179,798 83,597
jum §

0 =ZIlEIISMSEEIH dES 263,395
02 JI=sdES 2,000,000 2,000,000 0
0ol=ds= 2,000,000 2,000,000 0
0JI2EZ2(HIISHM2E FHIAXHA) 2,000,000




